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Grade 7 Mathematics Sample ER Item

MAT.07.ER.2.0000G.A.295

Sample Item ID:

MAT.07.ER.2.0000G.A.295

Grade:

07

Primary Claim:

Claim 2: Problem Solving

Students can solve a range of well-posed problems in
pure and applied mathematics, making productive use
of knowledge and problem-solving strategies.

Secondary Claim(s):

Claim 1: Concepts and Procedures

Students can explain and apply mathematical concepts
and carry out mathematical procedures with precision
and fluency.

Primary Content Domain:

Geometry

Secondary Content Domain(s):

Measurement and Data

Assessment Target(s):

2 A: Apply Mathematics to solve well-posed problems
arising in everyday life, society, and the workplace.

1 F: Solve real-life and mathematical problems involving
angle measure, area, surface area, and volume.

11 (Gr 4): Solve problems involving measurement and
conversion of measurements from a larger unit to a
smaller unit.

Standard(s): | 7.G.4, 4.MD.3
Mathematical Practice(s): | 1,2, 3
DOK: | 2
Item Type: | ER
Score Points: | 2
Difficulty: | M
Key: | See Sample Top-Score Response.

Stimulus/Source:

Target-Specific Attributes (e.g.,
accessibility issues):

Notes:

Part of PT set
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An artist used silver wire to make a square that has a perimeter
of 40 inches. She then used copper wire to make the largest
circle that could fit in the square, as shown below.

How many more inches of silver wire did the artist use

compared to copper wire? (Use 7 = 3.14) Show all work
necessary to justify your response.

Sample Top-Score Response:

Each side of the square has a length of 40 x % = 10 inches.

The radius of the circle is 10

= 5 inches, so the circumference of the circle is
2 x 7 x5 =10 x 3.14 = 31.4 inches.

The perimeter of the square minus the circumference of the circle is 40 — 31.4

= 8.6
inches.
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Scoring Rubric:
Responses to this item will receive 0-2 points, based on the following:

2 points: The student shows thorough understanding of how to solve a real-world

problem involving circumference. The student determines the correct answer to
the problem and provides clear justification for the answer.

1 point: The student shows partial understanding of how to solve a real-world problem
involving circumference. The student determines the correct answer to the
problem without providing justification for the answer. OR The student
provides a correct strategy with an incorrect or missing answer.

0 points: The student shows limited or no understanding of how to solve a real-world

problem involving circumference. The student does not provide a correct
answer or strategy.
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